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Benha University 

Faculty of Computers and Information 

Department: IS 

Final Exam Fall 2016 

Subject: E-Commerce 

Level-year: 4
th 

Level 

Time allowed: 3 Hour 
Full Mark: 65 

Answer all of the following questions 

Question 1: MCQ (30 marks) 

In your answer sheet draw a table like the one below and put your answer into it. 

1 2 3 4 5 6 7 8 9 10 

B D B B A C A D C D  

11 12 13 14 15 16 17 18 19 20 

C  A  C  A  B  A  C  B  B  A  

21 22 23 24 25 26 27 28 29 30 

D  B  D  C  B  D  D  A  A  B  

.   

Question 2 short essay questions (20 marks) 
1- Briefly describe the functionality of digital wallet (4 marks) 

 
2- Describe the SET protocol. ( 4 marks) 

a. Developed to address deficiencies in online credit card use. Open standard developed by 

MasterCard and Visa. 

b. Authenticates cardholder and merchant identity through use of digital certificates. 

c. Transaction process similar to standard online credit card transaction, with identity verification. 

d. Thus far, has not caught on much, due to costs involved in integrating SET into existing 

systems, and lack of interest among consumers 

e. SET uses SSL and PKI.  Customer must have a SET enabled browser and merchant needs SET 

enabled server. 

f. Consumer’s credit card issuing bank issues a digital certificate (electronic wallet) with 

consumer’s public key and bank’s public key (signed with bank’s private key). 

g. Merchants get a similar digital certificate from bank. 
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3- Briefly describe the functionalities provided by an e-commerce web server (4 marks) 

 
4- Briefly describe the eight most important factors in e-commerce web site design (4 marks) 

 
5- Using a graph, illustrate the concept of e-commerce presence map(4 marks) 
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Question 3: E-commerce server side management techniques (15 marks) 

Assume you are given a file containing the following set of data AACABABBADACCECDDEEE 

and you are instructed to keep their space on your server as minimum as possible 

1- Apply RLC and calculate the CR (3 marks) 

2A1C1A1B1A2B1A1D1A2C1E1C2D3E (28 bytes) 

CR= ((20-28)/20) * 100  = -40% 

2- Apply VRLC and calculate the CR (4 marks) 

A 0 

C 10 

E 110 

B 1110 

D 1111 

Coded string: 001001110011101110011 

11010101101011111111110110110 (50 bits) 

 

CR= ((160-50)/160) * 100 = 68 % 
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3- Apply LZW and calculate the CR (5 marks) 

S C Output Code String  

   
1 A 

   
2 C 

   
3 B 

   
4 D 

   
5 E 

A A 1 6 AA 

A C 1 7 AC 

C A 2 8 CA 

A B 1 9 AB 

B A 3 10 BA 

A B  
  

AB B 9 11 ABB 

B A 
   

BA D 10 12 BAD 

D A 4 13 DA 

A C 
   

AC C 7 14 ACC 

C E 2 15 CE 

E C 5 16 EC 

C D 2 17 CD 

D D 4 18 DD 

D E 4 19 DE 

E E 5 20 EE 

E E 
   

EE 
 

20 
  

Coded : 112139104725244520 (18 bytes) 

CR= ((20-18)/20)*100 = 10% 

4- Which of the three techniques is most suitable for your case? Explain your answer? (3 marks) 

VRLC depending on the nature of the input stream  


